Two's Company
The answer to the meta is a TV show

Answers fit into the grid in two A
ways: Rows and Bands. 1

Each Row consists of two answers

entered back-to-back; their dividing 2 B
points are for you to determine,
except for Row 5, which consists of 3 C
two four-letter entries separated by
the central black square. D
Band answers are entered *
consecutively in their respective
bands, starting in the lettered S
square, traveling in a clockwise
pattern and ending at the square 6
underneath the lettered square.
Each square will be used twice, 7
once in a Row answer and once in a
Band answer. 8
ROWS
1___Tam ("Australia's 9

favourite bikkie")

Checkpoint Charlie city Valley dweller, like the farmer
in a certain nursery rhyme (Hi

2 Something salted at a
ho, the derry-o!)

Mexican restaurant

Residence fit for a king 8 Energize, as a party (2 wds.)

3 Make one's getaway Use the + sign

Heston was its president 9 Night before
from 1998 to 2003 (abbr.) Bogart's role in "Casablanca”
4 Steffi who achieved a BANDS
Golden Slam in 1988 A "Heads up: this tree is coming
down!"

___, rinse, repeat

Like equations of the form
y=mx+c

5 Crystal-filled formation

Disney film featuring light
cycles Word ___ (rhyming nickname

6 Wedding affirmation (2 wds.) for a crossword lover)

Leaf-wrapped Mexican dish First of the five stages of grief

Oblique cut, as on a mirror's

7 Pioneering journalist Nellie
edge
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Taking up more space
B Car model named after an antelope

Mother tongue formed when a
European language comes in
contact with a local language

"What's ___? Witty wordplay for
comic effect!" (2 wds.)

They're always up to no good
C Part of a graduate's ensemble
Totally spellbound

He said, "Difficult to see. Always in
motion is the future."

D Me squished under the weight of
your opprobrium whilst still
remaining your Aussie friend, and
what 3 squares have





